
 

Fax Option Type C1800 
(D401) 

 



 

 
 

  1.Fax Option (D401) ...............................................   2 

 Parts Index..............................................................   6 

Fax Option Type C1800 (D401) 
 

PARTS CATALOG 
 

This catalog gives the numbers and names of parts on this machine. 

 

May ,30 ' 2008 



2 

 

1.Fax Option (D401) 

7

103

2

101

101

103

101
5

6

4

3

8

1

11

102

104

10

106

9

105

14
12

13

15

 



3 

 1 H523 5350  Telephone Cable 1 

 2 B620 5866  Fax Control Unit Holder 1 

 3 D045 6185  PCB:MBU:Ass'y 1 

 4 D401 5132  PCB:GWFCU3:NA:Ass'y 1 

 4 D401 5134  PCB:GWFCU3:EU:Ass'y 1 

 4 D401 5136  PCB:GWFCU3:TWN:Ass'y 1 

 5 B620 5051  Speaker 1 

 6 D401 5301  Panel:FCU 1 

 7 B238 5885  Control Board Panel Grip 1 

 8 B267 1411  Operation Sub-unit:Fax:NA:Ass'y 1 

 8 B267 1412  Operation Sub-unit:Fax:EU:Ass'y 1 

 9 B229 1530  Keytop - Fax EU 1 

 10 B404 5821  Handset Bracket 1 

 11 B404 3861  SG3 Decal 1 

 12 A514 1200  Decal:Serialnumber Sheet:FJI 1 

 13 B267 1473  Decal:Fax:CHN 1 

 13 B267 1477  Decal:Fax:TWN 1 

 14 D345 1476  Decal:Fax:NA 1 

 14 D345 1486  Decal:Fax:TWN:Option 1 

 14 D345 1488  Decal:Fax:CHN:Option 1 

 15 D401 7203  Label:Passing Certificate:Fax:CHN 1 

 15 D401 7204  Decal:Passing Certificate:TWN 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 101 0353 0050N Screw-M3x5  

 102 1607 1139  Ferrite Core:RFC-8  

 103 1105 0511  Harness Clamp - LWS-0306ZC  

 104 1103 3734  Connector:TM-6-DC1(01)  

 105 0450 3008N Tapping Screw - M3x8  

 106 0451 4006N Tapping Screw - 4x6  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

1.Fax Option (D401) 



 

 

Parts Index 



6 

D401 5132  PCB:GWFCU3:NA:Ass'y   3 -   4 

D401 5134  PCB:GWFCU3:EU:Ass'y   3 -   4 

D401 5136  PCB:GWFCU3:TWN:Ass'y   3 -   4 

D401 5301  Panel:FCU   3 -   6 

D401 7203  Label:Passing Certificate:Fax:CHN   3 -  15 

D401 7204  Decal:Passing Certificate:TWN   3 -  15 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

A514 1200  Decal:Serialnumber Sheet:FJI   3 -  12 

B229 1530  Keytop - Fax EU   3 -   9 

B238 5885  Control Board Panel Grip   3 -   7 

B267 1411  Operation Sub-unit:Fax:NA:Ass'y   3 -   8 

B267 1412  Operation Sub-unit:Fax:EU:Ass'y   3 -   8 

B267 1473  Decal:Fax:CHN   3 -  13 

B267 1477  Decal:Fax:TWN   3 -  13 

B404 3861  SG3 Decal   3 -  11 

B404 5821  Handset Bracket   3 -  10 

B620 5051  Speaker   3 -   5 

B620 5866  Fax Control Unit Holder   3 -   2 

D045 6185  PCB:MBU:Ass'y   3 -   3 

D345 1476  Decal:Fax:NA   3 -  14 

D345 1486  Decal:Fax:TWN:Option   3 -  14 

D345 1488  Decal:Fax:CHN:Option   3 -  14 

H523 5350  Telephone Cable   3 -   1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Parts Index 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No. 

Part No. 



7 

0353 0050N Screw-M3x5   3 - 101 

0450 3008N Tapping Screw - M3x8   3 - 105 

0451 4006N Tapping Screw - 4x6   3 - 106 

1103 3734  Connector:TM-6-DC1(01)   3 - 104 

1105 0511  Harness Clamp - LWS-0306ZC   3 - 103 

1607 1139  Ferrite Core:RFC-8   3 - 102 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No. 

Part No. 


	1.Fax Option (D401) 
	Parts Index 

